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Run 6142 quartetwise, posH(O: Beam DIN

— aam laol pooHs
— Laser ON Entries: 74127 Entries: 58930
~ Mean: 13.2724 +/- 0.0034 Mean: 3.2161 +- 0.0016 58930
— — Laser OFF Std Dev: 0.9204 +- 0.0024 | Std Dev: 0.3994 +/- 0.0012 3.216
~ S0 DBV 0.3994
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Run 6142 quartetwise, asymOsub: Beam ON

— Laser ON Entries: 74127 Entries: 58930
| Mean: 24 8666 +- 0.1106 Mean: -7.0631 +/- 0.0622
— — Laser OFF Std Dev: 30.1116 +- 0.0782 | Std Dev: 22 3828 +- 0.0652
| | L L L | L | L I L L | I L
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Run 6142 quartetwise, negHO: Beam DIN

- — aami_lasl nagHD
— — LEEET GN Entries: 74127 Entries: 58930
— Mean: 12.7899 +/- 00034 Mean: 3.3537 +- 0.0018 58930
B Laser OFF Std Dev: 0.9163 +/- 0.0024 | Std Dev: 0.4536 +- 0.0013 3.354
| (oo 0.4536
| 1 | 1 | | I —_ 1 1 | 1 1 1 I 1 |

2 4 B 8 10 12 14 16
-------- Histogram Vars

Positive Hel (ON): 13.272437 +/- 0.003414
Negative Hel (ON): 12.789944 +/- 0.003365
Positive Hel (OFF): 3.216069 +/- 0.001645
Negative Hel (OFF): 3.353748 +/- 0.001869
-------- Sums and Diffs

On Diff: 0.482493 +/- 0.002023

Off Diff: -0.137679 +/- 0.001797
On Sum: 26.062381 +/- 0.006470

Off Sum: 6.569817 +/- 0.003028
-------- Asymmetries
On Asym: 24.752666 +/- 0.104199 (ppt)
Off Asym: -7.063149 +/- -0.092240 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 19.492564 +/- 0.007144
BkSub Asym: 31.815815 +/- 0.139161 (ppt)




asym (AccO) / ppt

posHO

Run 6142 quartetwise, posHO vs time
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Run 6142 quartetwise, asymQ0sub vs time
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Run 6142 quartetwise, negHO vs time
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Run 6142 quartetwise, bcm vs time
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